Name: ______________________________________________________________________  Date: ______________________

Chapter 6 Science Test (42 points)


Part 1: Matching (10 points)

1. prey ___________

2. consumer ___________

3. herbivore ___________

4. food web ___________

5. producer ___________

6. carnivore ___________

7. predator __________

8. decomposer ____________

9. omnivore ________

10. food chain __________

a. a rabbit is an example of this

b. a living thing that can make its own food

c. consumers that are hunted for food

d. the movement of food energy in a sequence of living things

e. bears and humans are an example of this

f. a living thing that feeds on waste or dead plants/animals

g. lots of food chains combined

h. consumers that hunt for food

i. lions are an example of this

j. animals that eat other animals to survive

Part 2: Fill in the blank. (10 points)

Use the words in the Word Bank to complete the sentences below. You will not use all of the words in the Word Bank.

1. There are three different types of ______________________________. 

2. An example of a decomposer is an ______________________________. 

3. A hyena is an example of an _____________________________. 

4. There has to be at least one _________________________, consumer, and decomposer in a food chain. 

5. ________________________ are always at the bottom of the food chain because they can produce their own food. 

6. Rabbits are an example of _______________________. 

7. Bears are an example of a ________________________. 

8. Yeast is an example of a  __________________________. 

9. ___________________________ eat producers. 

10. Carnivores always eat ___________________.

Part 3: Short Answer (12 points)
Answer the following questions with 3 complete sentences. 

1. What is the difference between a food chain and a food web? Give examples.

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. What would happen next if the number of predators in a habitat increased too much?

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Part 4: Short Essay (10 points)

Complete the drawing and write at least 4 sentences describing the picture.
1. Draw an example of a food chain? Explain how it makes up a food chain. Make sure that you have at least one producer, consumer, and decomposer in the food chain.

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________
Word Bank


meat		prey		plant		consumers	       omnivore                sunlight energy		producer	predator	herbivores	       earthworm       decomposers	











